www.kaiser-kuehne.com T. +49 42 54 /93 15-0

© Kaiser & Kuihne Freizeitgerate D-27324 Eystrup

Installation

0,30

Assign a location for the equipment considering the space requirements. For a safe use of the effect
disc, a surrounding area of an exftension of 1,50 m and free from obstacles must be provided.

2. For wall holder assembly, refer to the sketched layout of the rear part or use it as a drilling jig. Keep in

mind both a total weight of 75 kg and a possible additional load of the same weight caused by a user who
infends to hang from the disc. Fastening material is not included with delivery.

3. Theinstallation height recommended is at 1,60 m (disc centre).
4. Attention: For fastening the effect disc, the screws slightly have to be lubricated with

installation paste!
Connect outer flange ring and effect disc with six safety screws M8x20-A2 and six washers @ 8,4-A2.

5. Check all screw connections according fo maintenance instructions affer 4-5 weeks and retighten, if

necessary.

Please ensure that all special tools (e.g. Allen key for secured Allen screws efc.) and all specific
documents which are or may be useful for safety management (e.g. invoice, delivery note, order
acknowledgement, installation instructions, maintenance instructions) are forwarded to the persons
responsible .

6x screw connection —
safety screw M8x20-A2;
2x washer DIN 125-98,4-A2

[ exemplary wall
[ effect disc

?1L
* 3 <
1‘:12@
|

ke

250
300

wall attachment device
wall flange layout
(in mm)

1,60 (conseillé)

_|playing surface _|playing surface

/ exemplary wall

[/L _jL )J
\ /

S /

1,50
. 4,20 o
. Item No. Description Scale Date Page
Installation 0-37185-000  Effect disc 1:50 09/21EB  1/1



AutoCAD SHX Text
t=12

AutoCAD SHX Text
playing surface

AutoCAD SHX Text
playing surface

AutoCAD SHX Text
effect disc

AutoCAD SHX Text
exemplary wall

AutoCAD SHX Text
safety screw M8x20-A2; 2x washer DIN 125- 8,4-A2

AutoCAD SHX Text
wall flange layout (in mm)

AutoCAD SHX Text
1. Assign a location for the equipment considering the space requirements. For a safe use of the effect Assign a location for the equipment considering the space requirements. For a safe use of the effect disc, a surrounding area of an extension of 1,50 m and free from obstacles must be provided. 2. For wall holder assembly, refer to the sketched layout of the rear part or use it as a drilling jig. Keep in For wall holder assembly, refer to the sketched layout of the rear part or use it as a drilling jig. Keep in mind both a total weight of 75 kg and a possible additional load of the same weight caused by a user who intends to hang from the disc. Fastening material is not included with delivery. 3. The installation height recommended is at 1,60 m (disc centre).   The installation height recommended is at 1,60 m (disc centre).   Connect outer flange ring and effect disc with six safety screws M8x20-A2 and six washers   8,4-A2.5. Check all screw connections according to maintenance instructions after 4-5 weeks and retighten, if Check all screw connections according to maintenance instructions after 4-5 weeks and retighten, if necessary. Please ensure that all special tools (e.g. Allen key for secured Allen screws etc.) and all specific documents which are or may be useful for safety management (e.g. invoice, delivery note, order acknowledgement, installation instructions, maintenance instructions) are forwarded to the persons responsible .

AutoCAD SHX Text
wall attachment device

AutoCAD SHX Text
exemplary wall


	Pläne und Ansichten
	037185000m_me_mf-Modell


